Notes Answers


Chapter 15 Treasury Management
Answer 1
(a)
Mechanism

(1)
Define a materiality threshold;

(2)
For transactions above the threshold obtain competitive quotes from more than one bank;

(3)
The purpose is to ensure that the transactions are at a favourable market rate.

(b)
Dealing records

(1)
The dealers shall record all transactions on the dealing tickets immediately after the deals are closed;

(2)
The tickets have to be sequentially numbered and the details verified by the backoffice employees to ensure segregation of duties;

(3)
It is important that the dealing tickets are filed in a secure place;

(4)
These processes are to ensure that all the executed trades will be reflected in the accounting records and proper audit trails be maintained.

(c)
Credit rating

(1)
Limits are to be defined for each counterparty;

(2)
The counterparty limits shall be based on their respective credit ratings;

(3)
Higher limits are to be assigned to those with better ratings;

(4)
Avoid over-concentration of the credit risk;

(5)
The monitoring of the outstanding exposure against the limits should be carried out by employees not involved in the dealing function.
Answer 2
(a)

Without netting system
24 × (24 – 1) × 40 × $100 = $2,208,000
(b)
· Using a netting system can help Grow Fast reduce the amount of actual cash flow and hence the transfers between the group companies.
· Under the netting system, the payments will not be made for every transaction.

· Instead, the payment information is accumulated until the end of a payment period (eg monthly) and only the net amount is settled with each of the group companies.

· Usually, one of the subsidiaries or the group’s treasury will act as the netting agent.
(c)
Using a Separate Netting Centre

24 × $100 = $2,400

Note: A saving of $2,208,000 – $2,400 = $2,205,60
Or

Using one of the existing subsidiaries as a Netting Centre

(24 – 1) × $100 = $2,300

(Note: Some candidates may assume that the netting of USD and Euro will be conducted separately. Hence, the answer of $4,800 ($2,400 × 2) for (i) and $4,600 ($2,300 × 2) for (ii) will also be acceptable.)
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